TH27E4R 12887 ZERMNE

BE-CERERE

T AEE

38278 £ 9 8 17 —
3A28H + 13 13 26 —
3H29H H 32 20 92 —
3H30H H 47 28 715 —
3A318 K 41 38 79 —
4818 K 37 20 57 —
4A28 K 34 31 65 —
4A38 £ 24 24 48 —
4848 *t 713 473| 1,186 121 477 1,198
4A58 H 753 976 1,329 7156 280| 1,336
4868 A 509 418 927 915 423 938
4878 X 492 467 959 498 471 969
4888 K 650 266| 1,216 660 975 1,235
4898 K 972 618 1,190 979 620 1,199
48108 % 650 652| 1,302 656 698 1,314
481180 £ 1,155 1,099 2254 1,165 1,107 2,272
&t 9,731 5,051| 10,782 5,550/ 4911 10,461

1/3R=




TH27E4R 12887 ZERMNE

b4

Z2-ZERERE

AL ZERMEESE —ERBREAES

3H27H % —

3A28H * —

3A29H H —

3A308 A —

3B31H X —

4H18H K —

4H2H K —

4A3H £ —

4848 + 371 346 717 374 349 723
4858 H 484 004 988 484 905 989
4868 H 315 302 617 317 305 622
4878 X 384 411 795 387 411 798
4888 K 402 374 776 402 378 780
4H9H K 369 425 794 371 426 7197

48108 £ 341 464 805 344 467 811

48118 * 993 7139| 1,292 956 741 1,297
=X 3219 3,565| 6,784 3,235 3,982| 6,817
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TH27E4R 12887 ZERMNE

BE-CERERE

a5

(REE+(F2)

38278 £ 9 8 17 —
3A28H + 13 13 26 —
3H29H H 32 20 92 —
3H30H H 47 28 715 —
3A318 K 41 38 79 —
4818 K 37 20 57 —
4A28 K 34 31 65 —
4A38 £ 24 24 48 —
4848 *t 1,084 819 1,903] 1,095 826 1,921
4A58 H 1,237 1,080 2317 1,240 1,085 2,325
4868 A 824 120 1,544 832 728 1,560
4878 X 876 878 1,754 885 882| 1,767
4888 K 1,052 940 1,992 1,062 953 2,015
4898 K 941 1,043] 1,984 950 1,046/ 1,996
48108 % 991 1,116/ 2,107/ 1,000 1,125 2,125
481180 £ 1,708 1,838 3,546] 1,721 1,848 3,569
&t 8,950 8,616] 17566 8,785 8493| 17,278
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